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AS
MUSIC

Section A (Questions1-4)

Vocal Music: J S Bach



Q1

Bach: Ein feste Burg (excerpt 1)
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Listen to Bach track 1 and refer to Excerpt 1 (above).




(&) What is the key at the start of this excerpt? Tick one of the following:

D minor

D major

B minor

A major

(b) Name the type of voice you hear at the beginning of this excerpt.

(c) Describe the accompaniment to the voices in bars 1 - 4. Make two points in
your answer.

(d) What key is reached at the beginning of bar 67

(e) The first 21 bars of this excerpt is a fugal exposition. Describe the structure
of this passage.




(f) Which of the following best describes the relationship between bar 19 and
bar 20? Underline your answer:

repetition imitation call and response sequence

(g) Describe two features of the contribution(s) made by the oboes, brass and
timpani in bars 23 to 32.

(h) Describe some characteristic features of the Baroque trumpet which was in
use during Bach's lifetime.

Total for Question Bach 1 =12 marks




Q2 Bach: Ein feste Burg (excerpt 2)
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Listen to Bach track 2 and refer to Excerpt 2 (above).




(a) What is unusual about the use of the upper strings (1% violins, 2" violins
and violas) in this movement? Tick one of the following:

they play in octaves through the whole movement

they play in parallel 3rds through the whole movement

they play in alternation through the whole movement

they play in unison through the whole movement

(b) Describe the rhythm of the bass part in bars 1 and 2.

(c) Which of the following best describes the type of bass line used in bars
4 and 5? Underline your answer:

walking bass ground bass bass pedal bass ostinato

(d) Describe the changes to the music in bar 8. (Contrast bar 8 with bars 1 - 7.)
Make two points in your answer.

(e) Which woodwind instrument is used in this excerpt?




(f) Complete the table below by writing an appropriate description in the missing
box next to each location in the score. Choose your answers from the following:

passing note anticipation suspension auxiliary

Location Description

At letter A - the 5™ note in bar 10 is a(n):

At letter B - the last note in bar 12 is a(n):

At letter C - the 2nd note in bar 13 is a(n):

At letter D - the 1st note in bar 14 is a(n):

(g) Compare the use of melody and rhythm in bar 15 with bar 16. Point out two
differences between the two bars.

Total for Question Bach 2 =12 marks




Q3 Bach: Ein feste Burg (excerpt 3)
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Listen to Bach track 3 and refer to Excerpt 3 (above).




(&) What is the texture of this excerpt? Tick one of the following:

polyphonic

homophonic

antiphonal

monophonic

(b) Compare the shape of the melody and bass lines in bar 3. Describe the
relationship between these two parts.

(d) Identify the type of chord used at bar 11 beat 2. Underline your answer:

minor major diminished augmented

(e) Name the dissonance used at bar 12, beat 3.




(g) Describe the role of the orchestra in this movement.

(h) Describe how Bach uses this chorale and its text in this cantata.

Total for Question Bach 3 =12 marks




